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@ 522 + 10xy + 592

=57 + 21y +y°)
=5(x+y)*

@ cx? —cy?

=c(@” -y%)
=c@+y)(x—y)
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® mx® —mx—20m

=m(x? —x—20)
=m(x+4)(x-5)

@ 27a°-3

=39a° - 1)
=3Ba+1)3a-1)

@ 2m®n —8mn +8n

@ ax?-25a

® 3ax? +6ax+3a

® (@+bx—(a+by

=2n(m? —4m +4) =a(x? -25)
=2n(m - 2)° =a(x+5)(x-5)
® 161y -9x @ 2ax? -12ax-32a
=x(16y* - 9) =2a(x* - 6x—16)

=x(4y +3)(4y - 3)

=2ax-8)(x+2)

=3a@’ +2x+1) =Mzx—My
=3a(x+1) =M(x-y)
=(a+b)x-y)
@ 2(x+3)—(@x+3) (x+1Y¥-2x+1)-15
=M?-2M-15
=Mx—-M=M(x-1) = (M -5)(M+3)
=@+3)x-1) =(@+1-5)x+1+3)
=@x-4)(x+4)
@ @x+y)?-2° © (@+b)*-6(a+b)+9
=M?-2? =M?-6M+9
=M +2z)(M-2) =M -3)?
=@+y+2)(x+y—2) =(@+b-3)*
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® 2% +6x-56 ® @+yb+@+y)x
=2(x% +3x-28) =Mb +Mc
=2(x+7)(x—4) =M@ +c)

=@+y)b+c)

@ @+2°2+10x+2)+25 @-3Y? -7@x-3)+12
=M? +10M +25 =M?-7M+12
=M +5)? =M -3)M-4)
=(@+2+5)° =@x-3-3)x-3-4)
=@+7)° =@x-6)(x-7)

@ 2x(x-1)-3@x-1) © a® - +c)

—a? - M?

=2zM -3M = (@+M)a~M)
=@x-3)x—-1) ={a+@+o)H{a-0+0)}

=(@+b+c)a-b-c)
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